Forslovs BK

Mandag 2021-10-25

SCRATCH

Partavling, 5 bord, 10 par. Antal brickor: 24. Medel: 96.0.

Plac Par Poéng % Namn MID Klubb

1 8 118.0 61.46 Magnus Ottosson - Eskil Andgren 6041 60203 Forslovs BK

2 6 117.0 60.94 Ingemar Jonsson - Inger Ottosson 43858 28593 Forslovs BK

3 2 112.0 58.33 Goran Wennergren - Karl Lundgren 5451 36443 Munka Ljungby BS - Forslévs BK

4 9 110.0 57.29 Jan Henrysson - Eva Henrysson 40790 40791 Forslévs BK

5 7 103.0 53.65 Bo Bjurulf - Carin Bjurulf 58905 58906 Forslovs BK

6 5 95.0 49.48  Maj-Britt Nilson - Walter Olsson 36442 36441 Forslovs BK

7 1 91.0 47.40 Olle Lundh - Roger Wolcher 88772 53070 Forslovs BK

8 10 77.0 40.10  Gunvald Gunnarsson - Lilian Gunnarsson - - -

9 3 75.0 39.06 Tore Karlsson - Kurt Andersson 87604 28588 Forslovs BK

10 4 62.0 32.29 Eva Hafmar - Lena Wargren 61679 46557 Forslovs BK
1 Nord Ingen 2 Ost NS 3 Syd OV 4 Vast Alla

Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poéng
2 4 24 N+3 v5 200 80009 1 3¢0-3 aA 150 8.000(10 5 2¢ V-2 v3 200 8000[3 5 4e4V-2 v7 200 8.00.0
9 1 24 N+2 v5 170 6.020|2 4 34S-1 7 -100 60202 4 2vy N+2 48 170 6.020|8 1 5¢ V-1 v8 100 6.02.0
3 6 14 N+2 vA 140 404010 5 24 O+1 T -140 40409 1 2¢ N+1 T 140 4040|9 2 3NV= v7 -600 3.05.0
7 8 44 N-1 43 50 2060|3 6 2¢ S-2 v6 -200 1.070(3 6 2vS= 5 110 206.0/10 6 3NV= ¥8 -600 3.05.0
10 5 2NN-4 v5 -200 00807 8 3NS-2 7 -200 10707 8 3vS-1 &7 -50 0080|4 7 3NV+1 v7 -630 0.0 8.0
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vst Ingen

Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
9 2 3¢ N= %J 110 800010 6 3NO= ¢7 -600 80001 2 3NO+4 43 -720 5030( 1 2 3NS+1 #4 430 7.01.0
10 6 4¢ N-1 #A -100 60203 5 3NO+1 7 -630 5030(5 8 3NV+4 42 -720 503.0| 9 3 3NN+1 3 430 7.01.0
4 7 3vV+2 ¢5 -200 4040(8 1 3NO+1 49 -630 5030|9 3 3NO+4 43 -720 503.0| 4 6 3NS= &T 400 3.05.0
3 5 4vV+1l ¢5 -450 1.070(4 7 3NO+2 «3 -660 1.070(10 7 3NO+4 47 -720 503.0| 5 8 3NN= 9 400 3.05.0
8 1 4vV+1 ¢K -450 1.07.0[9 2 3NO+2 2 -660 1.070( 4 6 6NO+1 43 -1470 0.08.0|10 7 14 S= &T 80 0.08.0
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS

Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang
1 2 44 N+1 42 450 6.020|6 1 14 S+2 v9 140 8.000| 6 1 24 N+1 vK 140 7010(9 4 24 S+2 ¢3 170 8.00.0
5 8 44 N+1 v9 450 6.020|2 3 2¢ S+1 «A 110 40409 4 24 N+1 v3 140 7010|6 1 3vO-2 48 100 6.02.0
9 3 44 N+1 ¢A 450 6.020(9 4 2¢ S+1 42 110 4.040(2 3 4v0O-2 aQ100 40402 3 1vO+1 #«A -110 4.0 4.0
4 6 4y N= ¢A 420 206.0(10 8 1v N+1 ¢8 110 4.04.0|10 8 4vyO-1 49 50 2060|5 7 2NS-2 ¢4 -200 1.07.0
10 7 34 N-1 ¢A -50 00805 7 INN= &5 90 00805 7 44DN-2vK -300 0.08.0/10 8 INS-2 ¥v5 -200 1.07.0
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV

Par  Kontr Ut Res Poéng| Par Kontr Ut Res Poéng| Par Kontr Ut Res Poéng| Par Kontr Ut Res Poéng
9 5 3NN+2 #A 660 8.000|3 4 INS+2 ¢A 150 8000|9 5 3NN= 42600 8000|210 24 O-1 vQ 100 8.0 0.0
110 4vS+1 43 650 5030|6 8 2¢S= #J 110 6.020| 110 2NS+2 v4 180 6.020( 8 3 24 O+4 #3 -230 6.0 2.0
7 2 4vyS+1 4T 650 5030(9 5 2NV-1 ¢A 50 4040(3 4 2¢ S+3 v2 150 206.0|4 5 5NV+1 v3 -690 3.05.0
3 4 3NS+1 42630 2060|7 2 4vS-1 ¢A 50 2060(6 8 INN+2 2 150 206.0| 7 1 3NV+3 v9 -690 3.05.0
6 8 BNN= #A 600 0080|110 24V+1 #J -140 0080(7 2 2NS+1 v4 150 206.0|9 6 3NV+4 v6 -720 0.0 8.0
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla

Par  Kontr Ut Res Poéng| Par Kontr Ut Res Poang| Par Kontr Ut Res Poéng| Par Kontr Ut Res Poéng
210 4vO-1 49 50 8000|210 1¢ V-3 v7 150 8.00.0| 310 3NS+4 v6 520 8000[9 7 3NN+3 vT 690 8.0 0.0
7 1 4vyO= 4T -420 5030(7 1 4v0O-1 ¢4 50 5030(5 6 3NS+3 v6 490 6.020|5 6 3NN+2 43 660 6.0 2.0
8 3 49y 0= 4T -420 503.0(8 3 INV-1 46 50 5030(1 4 3NS+1 v6 430 3050|8 2 3NN+1 vT 630 4.04.0
4 5 49 O+3 #4 -510 1.070(9 6 INV= ¢7 -90 206.0| 8 2 3NS+1 v2 430 3.050|1 4 3NN= «3 600 1070
9 6 4vyO0+3 #4 -510 1.070( 4 5 2vO0+2 ¢2 -170 0080(9 7 3#S+1 v2 130 0080|310 3NN= #5600 1.07.0
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen

Par  Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poang| Par Kontr Ut Res Poéang
1 4 3NS+2 #5660 7010|1 3 3#S+1 vA 130 8000|1 3 44 S+1 #4A650 800.0| 410 3vO+1 48 -170 8.0 0.0
9 7 3NS+2 #3 660 7010|410 14 V+1 47 -110 50306 7 44 S= #A 620 5030(6 7 3NV= 42 -400 6.0 2.0
5 6 3NS+1 #K 630 4.040|6 7 3¢ V= &#A -110 50309 8 44 S= &#A 620 5030|1 3 49v0= &A -420 3.05.0
310 5¢ S= 47 600 2060|2 5 2NV= &7 -120 206.0( 2 5 3NS= 46 600 107.0|2 5 49v0O= 4K -420 3.05.0
8 2 66 N-1 T -100 0080|9 8 44 V= v6 -620 0080|410 3NS= 48 600 107.0|9 8 49vO+1 ¢2 -450 0.0 8.0
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